Name: Roll No.
SIDDEEQ PUBLIC SCHOOL

ENTRY TEST ... 46 ENGLISH Max. Marks: 20 ADMISSION to CLASS:4
Checked by | Srv# Sign: Rechecked by | Srv# Sign: Marks:
Q.1 (A) Encircle the Correct Spelling. (0.5x2)

L backry /  bakery / backery / bakry
L mosquitoe /  mosquito / mosgqitoe / mosqgouito

(B) Provide Meanings either in English or in Urdu. (0.5x4)
u crowd = wrap
L shady = |onely
(C) Complete the Columns. (0.5x 6)
Word Opposite Present Past | Past Participle
regular grow
above came
Q.2 Complete each Sentence by Choosing the Correct Word. (1.0x5)
L The boys laughed the beggar. (to/on/ at)
L best drink is Pepsi. (A /An / The)
- the rat eat cheese? (Does /Have / Do)
L You did not the newspaper. (buy / bought / buying)
L The parrot a nest in that tree. (has /does / have)
Q.3 Identify the Part of Speech of the Underlined Word. (1.0x3)

- They cooked some rice.

= The brave man killed the snake.

- He smiled sweetly.
Q4 Do as Directed. (1.0x3)

L They stayed longer at the cabin. (Change into an Interrogative Sentence)

L A loaf of bread is on the shelf. (Change into a Plural Sentence)

n the student /I /to/ told / cheat / not. (Arrange into a Sentence)

[ Sentence Construction ]

Q.5 Make Meaningful Sentences of the given Words. (1.0x3)
u because:
L crash:

L angrily:
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SIDDEEQ PUBLIC SCHOOL

ENTRY TEST ... 46 ENGLISH Max. Marks: 20 ADMISSION to CLASS:4
Checked by | Srv# Sign: Rechecked by | Srv# Sign: Marks:
Q.1 (A) Encircle the Correct Spelling. (0.5x2)

= backry / /  backery /| bakry
m mosquitoe / @ / mosgitoe  / mosgouito

(B) Provide Meanings either in English or in Urdu. (0.5x4)
n crowd mass s = wrap cover, fold L3
= shady _dark. dim,shaded 2~ m |onely alone, single, <) s
(C) Complete the Columns. (0.5x 6)
Word Opposite Present Past | Past Participle
regular irregular grow grew grow
below above come came come
Q.2 Complete each Sentence by Choosing the Correct Word. (1.0x5)
L The boys laughed at the beggar. (to/on/ at)
L The best drink is Pepsi. (A /An /The)
u Does the rat eat cheese? (Does /Have / Do)
L You did not buy the newspaper. (buy / bought / buying)
L The parrot has a nest in that tree. (has /does / have)
Q.3 Identify the Part of Speech of the Underlined Word. (1.0x3)
n They cooked some rice. Verb
m The brave man killed the snake. Adjective
m He smiled sweetly. Adverb
Q4 Do as Directed. (1.0x3)

L They stayed longer at the cabin. (Change into an Interrogative Sentence)
Did they stay longer at the cabin?
L A loaf of bread is on the shelf. (Change into a Plural Sentence)

The loaves of bread are on the shelves.

n the student /I /to/ told / cheat / not. (Arrange into a Sentence)
| told the student not to cheat.

[ Sentence Construction ]

Q.5 Make Meaningful Sentences of the given Words. (1.0x3)
u because:
L crash:

L angrily:




MATHEMATICS-4
Answer Key: 4

(i) 72 050 (i) 500ml (i) 45 (iv) half past5/5: 30
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x 37 _ 9+4+15
6468 7
+ 27720 =
3418 8 28
4. Apples which shopkeeper bought = 520 Working
53
Rotten apples = 43 9 ) 477
Good apples / remaining apples = 520 — 43 = 477 el N
27
Apples packed in each bag = 477+ 9 - 27
= 53 0
White lace Sara has = 23m Working
(a)White lace Ayesha has = 23m+ 11m 23m 34m
=34m + 11m + 23m
(b)Total lace which both girls have = 23m + 34m 3am 57 m

= 57m
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Name: Roll No.
SIDDEEQ PUBLIC SCHOOL
ENTRY TEST ... 46 MATHEMATICS Max. Marks: 20 ADMISSION TO CLASS: 4
Checked by | Srv # Sign: Rechecked by | Srv # Sign: Marks:
1. Complete the following mathematical statements. (1.0 x 4)

I. Seventy two thousand and fifty can be expressed in figures as:

ii. 500 ml+
i 2= 18
= =

=1 litre

(iv) Anum started her homework at 4 o’clock and finished in 1 and a half hour.
The time at which she finished her work is

2. Do as directed.

(i) Find the Quotient of 672 and 8.

! (i)Subtract 32kg 89g from 225kg 697g. |

__________________________________________________

(i) 924 x 37

4, A shopkeeper bought 520 apples. 43 out of them were rotten. He threw away the
rotten and packed the rest into 9 bags.How many apples did the shopkeeper pack

Iin each bag. (Show complete working) (4.0)
5. Sara bought 23m of white lace. Ayesha has 11m lace more than Sara.
(2) What is the length of lace that Ayesha has?
(b) What is the total length of lace both girls have?
(Show complete working) (4.0)

(Use back of sheet for Q5)
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